Applied Acoustics – 25/07/2014

Cognome e Nome:



Matricola:                                                                 

1) A pink noise is covering 10 octave bands (31.5 Hz to 16 kHz) and it has a total sound pressure level (unweighted) Ltot,L equal to 80+D dB. Compute the sound pressure level and the “A-weighted” sound pressure level for the single octave band of 63 Hz:

· Lband =     
                           dB



3 points
· Lband,A =                             
   dB(A)


3 points
2) A barrier must provide an attenuation of 10+E dB at 250 Hz for a line source. The source-receiver distance is 10+F m, and the barrier is in the middle. Find the minimum effective height of barrier:
· heff  =


   
   m



6 points
3) An average value of the sound intensity level equal to 88+D dB is measured on a surface S = 100+EF m2 enveloping a sound source. Compute the sound power level in dB and the source power in Watts
· LW = 



   dB



3 points
· W =


   
   W



3 points
4) A reverberation time T20 = 2+F/10 s is measured inside a room measuring (10+B)x(8+C)x(4+D/4) m. All the surfaces are concrete (α = 0.05). In the room there are 30+F upholstered seats. Find the absorption area of each seat.
· A1seat = 


   m2



6 points
5) During building acoustics measurements, a partition results having a sound reduction index R’w=45+F/3 dB, weighting 200+F*10 kg/m2. Find the additional weight to be added to the partition for reaching the minimum legal value of R’w=50 dB
· σadd =                                
kg/m2 



6 points
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Final SCORE   Points:








